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Bachelor of Commerce (B.Com.) Semester-VI Examination

PRINCIPLES AND PRACTICE OF INSURANCE (INSURANCE AND ACTUARIAL SCIENCE)

Optional Paper—8-2

Vocational Group—I

Time : Three Hours] [Maximum Marks : 80

N.B. :—

(1) ALL questions are compulsory.
(2) All questions carry equal marks.

1. (@ Why privatisation of Insurance Business in India was accepted ? State its success. 8
(b) Explain the methods of payment of premium.
OR
(c) Was liberalisation required for privatisation of insurance ? State its effects. 8
(d) Why premium is considered as consideration for insurance benefit ? Explain. 8
2. (a) Discuss the background for establishment of General Insurance Corporation of India (GIC).
8
(b) State meaning, nature and scope of Bank assurance. 8
OR
(c) Highlight the main provisions of General Insurance Act, 1972. 8
(d) Describe Innovations and Technology used by Insurance Industry. 8
3. (a) Explain procedure for alteration of Insurance Policy Contract. 8
(b) State the nature of policy value and related equations. 8
OR
(c) Discuss the types of services maintained in Insurance. 8
(d) Elucidate the procedure and importance of valuation of liability of insurance company. 8
4. (a) State nature and use of probability theory in insurance business. 8
(b) What do you mean by surrender of policy ? How its value is calculated ? 8
OR
(c) Differentiate between surrender of Policy and Lapse of Policy. 8
(d) Explain process for revival of Lapsed Policy. 8
5. Answer in brief :
(@) What is the effect of Globalisation on Indian Insurance ? 4
(b) Which are the functions of Subsidiary Insurance Companies ? 4
(c) Point out special reserves of Insurance Companies. 4
(d) Which types of probabilities are used in insurance ? 4
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